NATIONAL SENIOR CERTIFICATE: MATHEMATICS: PAPER Il — INFORMATION SHEET — SUPPLEMENTARY Page i of ii

INFORMATION SHEET

T =ar™ Snza(rn_l),r;tl
r-1
£(x) = lim f(x +h)—f(x)
h—0 h
A = P(1+ni)
A=P@1+i)"

d = (X = %)+ (Y, = ¥,)?

y =mx+c
m:yz_Y1
X, — X

2 1

(x—ay +(y —=b)y =r°

IEB Copyright © 2018

L, =——,—-1<r<1
1-r

A = P(1-ni)

A=P@1-i)"

PLEASE TURN OVER



NATIONAL SENIOR CERTIFICATE: MATHEMATICS: PAPER Il — INFORMATION SHEET — SUPPLEMENTARY Page ii of ii

In AABC: _a = _b = _C
sinA  sinB  sinC
a’ = b® +c® —2bc.cosA
1 .
area AABC = Eab.smC
sin(a + ) = sina.cos S + cosa.sin B sin(e — f) = sina.cos f — cosa.sin B
cos(a + ) = cosa.cosf — sina.sin g cos(a — B) = cosa.cosf + sina.sin g
cos’a — sin‘«a
cos2a = {1-2sin"« sin2a = 2sina.cosa
2cos’a -1
o > (x, = %)’
)?:_ G2 — i=1
n n
n(A)
P(A) = P(AorB)=P(A)+P(B)-P(Aand B)
n(s)
y=a+bX b:Z(X_X)(y_y)

¥ (x - X)°

IEB Copyright © 2018



